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(b)) Explain _the command \gbezier(10, 20) (20, 30) (25, 20)

and draw its figure.

(¢)  Write the code in LaTeX to produce the matrix :

0] 0
0 0 1 (

(d) Draw an output of the following commands :
()  \put(20, 0){\circle {20} }
(i) \put(50, 0){\circle*{5}}

Write a presentation containing in beamer with the following

content :

Title of the presentation with author and date, the list of three

chapters :

Getting started with LaTeX, PStricks and Beamer, respectively

(

on different slides, including one definition from each

chapter. : 8
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1. Fill in the blanks; any four parts from the following : 4x0.5=2

0] InLaTeX, ..coceovveevererenrrnsenennnn.. cOmmand is used to get text

in italics.
¢ DN et Y e command is used to start new line in

TeX document.
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(i) In LaTeX, ................................. command is used to begin
a section.
. ' ; <«
e B AR L SRR command produce O in LaTeX.
3 TR R R T command puts a horizontal liné above
its argument,
Answer any eight parts from the following : 8x2=16
()  Explain four ellipsis command in LaTeX, which one works(-
in any mode.
(if)  Write the code in LaTeX to obtain the expression :
b o |
[77(x)de= 7 (8)- £ (a).
a : ;
(iif)  Illustrate the difference between enumerate and itemize
environments by giving an example.
(iv)  Write the LaTeX code for the following expression :
e it G
e L (
z+1 :
(v)  Give the command in LaTeX to type : ! W
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(vi) Write a code in LaTeX to produce :

" T

Ixsin xdx = I(Tt— x)sin x dx
0 0

n

stinxdx =T

0

(vii)) Give the command in LaTeX to produce an output :

(viii) Write a code in LaTeX to produce an output :'

e if y>0
s x+y otherwise.

(ix)  Write the following postfix éxpression in standard
form :
x sqrt x 2 exp add 1 x sub div.
(x)  Give a command to draw sector of a circle of radius 1.5

centered at (2, 2), going from reference angle 0 to 45

degrees.
Answer any three parts from the following : - 4+4+4=12

(@)  Write the code in LaTeX to plot the curves y = \/l?l as
_ dotted curve and y = x* as dashed curve in the same
~ coordinate system.
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